M8 - 10.0 - Solving Equations (OPPOSITE OPERATION BOTH SIDES)

x+1=3
x+1=3
-1 -1

x+A1=3
1 -1

>\

x+é.=3—1

Subtract 1 from both sides
+1 — 1 = 0. Cross it off.

Check Answer!
(2) + 1 = 3 VSubstitution

x+4=2x

RN

Work on the complicated side!

I'm not afraid of adding/subtracting

x to/from both sides.

Subtract x from both
sides

x—1=2
x—1=2
+1 +1

s

xN=2+1

Add 1 to both sides
—1 4+ 1 = 0. Cross it off.

3)-1=2

3x+3x=4+8
6x =12

Combine like
Terms

a+l=a+1

(- 2(3)=s5x-3

Divide both sides by the

AN
4(x—3)=8

4x —12=8

t12 +12 I DMAS* Backwards I

4x 20
5 5

=D

2 _ x+2
(c+2)" = (x+2\)gf/-+2) |all squaredl

Multiply the outside
by all of the inside.

Multiply both sides
by the LCD (and
simplify at the same
time.)

Multiply both sides by x.

2x =4 number in front of the letter.
2_x - i % = 1. Cross it off. 4
2 2 - _
%zf _4 2(2) =4 D
2
@ \/ “X=5_ Divide by —1
X =—
X
2= 3 Multiply both sides by the
number below the letter.
2xx 33X 5
2 = 5= 1. Cross it off.
X{; 3% 2 X _3x2
- = —_= X
\/ NG .
x=6 X
2
~=1
X
xX 2 1Xx
x

Cross Multiply
Bring it up and
Multiply. Bring it
down. So Easy.

1 X
XX\E = x g = 1. Cross it off. (Over = Over!)
(1.1
x5 =25 Square/  x =5 Bring it over!
Root .
\/; — V25 both Wx)? = (5)? Change the Sign!

sides.
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